PROFESSIONAL EXAMINATION
! Professional BOARD
@bemmnotm High School Teacher Eligibility Test-
board 2018
1st Feb 2019 09:30am

Topic:- GENERAL HINDI

1) fFufafee & @ 919 @ faemfetys frs 82
1.(")

2.(,)

3.(!)

4.(-)

Correct Answer :-

< (D)

2) g YT A 1 g U A A DA 2
1. I

2. STt

3. T arefl

4. el

Correct Answer :-

o T Tl

Correct Answer :-



5) “UTfY WRTd B gTY TV A A9 & T A W <A § DI A7 PR 82
1. SUHT AADR

2. YD HADR

3. 3R PR

4. Y APR

Correct Answer :-

. SRR SeiHR
6) WY BT Y[ TURTR?
1. 2

2. i

3. 2iid

4. q

Correct Answer :-

7) oS FAiaAT e et gl
1. 3 g

2. TRA & Hd gl

3. TRI-GICT AT

4. 3dd g™



Correct Answer :-

8) ‘learning’ Y5 & forg f2=dt o # Sfera wfvHTire TreaTaei! &1 g ® |
1. T

2. JATTH
3. gfqurdn
4. ARG

Correct Answer :-

9)
didterugiga . @l
1. YRy

2. 3ah

3. 4P

4. 5B

Correct Answer :-

10) “H YR AT T, ART §AR B @iT1”

- sy M fpfe 3], g R M ufmTn - A P I 82
1. eI XY

2. QAT

3. HickT X9

4. dlcqcY XY

Correct Answer :-

. BRI

Topic:- GENERAL ENGLISH



1) Choose the option that best expresses the meaning of the highlighted idiom/phrase:

Anil: How did the election go?
Sunil: Very exciting till the last minute. Our candidate proved to be a dark horse.

1. The candidate is not popular but won.

2. His candidate lost the election, though he was expected to win.
3. The candidate backed out at the last minute.
4. The candidate is popular and won.

Correct Answer :-

« The candidate is not popular but won.

2) A sentence with an underlined word is given below. Choose the correct option which is closest in meaning to
the underlined word.

The fruit of one's toil helps others to continue with the mission.

1. achievement
2. hard work

3. attempts

4. sufferings

Correct Answer :-

o hard work

3) Out of the following options, choose the correct form of verb that is in agreement with the subject for the
given sentence:

‘A Tale of Two Cities’, a wonderful book to read.

1. are

2. were

3.1s

4. have been

Correct Answer :-



4) Out of the following options, choose the most appropriate tense that best fills in to complete the given
sentence:

This year, our cricket team all the matches played on the Indian soil.
1. will win

2. was winning

3. wins

4, has been winning

Correct Answer :-

« has been winning

5) Choose the appropriate adverb clause from the options to complete the given sentence.

He was very pleased
1. which you passed

2. which you had passed

3. that you passed

4, that you who passed

Correct Answer :-

« that you passed

6) Out of the following four options, choose the incorrect sentence:

1. Rohit is a charmer and you can find him selling newspapers on M G Road from 8:00 a.m. every morning.

2. Diabetes, a leading cause of heart problems, does not allow people to make it to the hospital in time after a heart
attack.

3. Symbiosis Institute is India's premier approved business school.

4. Nehru's vision continued to light up the entire nation even today.

Correct Answer :-

« Nehru's vision continued to light up the entire nation even today.



7) Out of the following options, choose the most appropriate usage to fill in the blank:

Ilive a fewyards  the bus stop.
1. off

2. from

3. outside

4. away

Correct Answer :-

o from

8) Arrange the sentences P, Q, R and S to form a logical sequence between sentences 1 and 6.

1. Jurors do not have to be intelligent.

P. In 1933, in a sheep-stealing case in Wales, two of the jurors were totally unable to understand English,
but no one found that out until after the trial.

Q. There is no test, no examination, and no enquiry about their abilities..

R. The convicted found this out and complained about it to the Court of Criminal Appeal.

S. No one even takes the trouble to find out whether they can understand the English language.

6. Still, the Court of Appeal felt that it must refuse to interfere.

1. QPRS
2. SQRP
3. PRQS

4. QSPR

Correct Answer :-

Topic:- GENERAL KNOWLEDGE

1) Which country will host the 2022 Football World Cup? / 2022 Beard fdy &Y &t A1 B arar o0
P BII?

1. America / 3T
2. Canada / ®HTsT

3. Qatar / PR

4, Mexico /ﬁﬁaﬁ



Correct Answer :-
e Qatar /PR

2) According to sex ratio trends of Census 2011, which district of Madhya Pradesh has been ranked number
One. /

SO 2011 H T Ut & T & SR, A U & fohy o7t &1 <iak U i fRar mar 81
1. Seoni / Ryt

2. Ratlam / Xdd™

3. Balaghat / STQTgIe

4, Mandla / HSdll

Correct Answer :-
» Balaghat / dTITUIC

3) The folk dance form called ‘Matki’ is prevalent in which of the following regions of Madhya Pradesh?

%‘WWWNHW%m@aﬁﬁmaﬁﬁm%
1. Bundelkhand / §GeS

2. Malwa / ATl

3. Vindhyachal / fdeamae

4. Baghelkhand / TUTGUS

Correct Answer :-
e Malwa / |l

4) Who appoints the Chairman and the Members of the Union Public Service Commission? /
Y AP TaT ATART F A 3R Tow! ot FAgfea o1 sarg?

1. Chief Justice of India / HRd & petes) et

2. Prime Minister / U&T HAt

3. President / Mg afd

4. Chief Election Commissioner / ¥ g-T1d 3T

Correct Answer :-

« President / I¢Ufd



Under the Madhya Pradesh Ladli Laxmi Yojana, the beneficiary is paid the total amount on attaining the
age of ___. [ AU ATSdl A&H! AT & agd, aruiff @ g 9 gft 11 W Fa A1 &1 YA fean
STt B

1. 18
2.21
3.23

4. 16

Correct Answer :-
e 21

6) India has won the gold medal in hockey __ times at the Olympics. /
ANatp @A A YURTAsPIA@uiugys IR gl

1.9

2.7

3.8

4.6

Correct Answer :-

7) Where is the Madhya Pradesh Tribal Museum located at? /
A UG ST AUGTed B! (U 82

1. Indore / ﬂ_cﬁ'xf

2. Jhabua / 3T

3. Khargone / [T

4. Bhopal / Hiure

Correct Answer :-

« Bhopal / {a@

8) The fictional boy character of the ‘The Jungle Book’ by author Rudyard Kipling was: /
TGP FSATS U §RT G T g BT HTeUD IIAD A UT:
1. Kaa/ T

2. Mowgli / A1Td



3. Shere Khan / WTHE

4. Bagheera / S°RT

Correct Answer :-

« Mowgli / AITd

9) The recipient of which one of the following awards given by Madhya Pradesh Government gets the highest cash
prize? /

Frafafa REeR! A @ f5ad urasdl ©f 79 USRI IROR gRT IEaH Tdhe REPR a1 rar 82
1. Mahatma Gandhi award / HelHT et RIPR

2. Shikar Award / FRRER TREHR

3. Sharad Joshi Award / [RG SIRN YREBR

4. Kishore Kumar Award / f&=1R PHR YRIDHR

Correct Answer :-
« Mahatma Gandhi award / HgTeHT el REBR

10) Who among the following was the Trinidadian writer of Indian descent? /
Frafafa 8 3 yrda gqa@ & HfFeieas das #1932

1. RK. Narayan / 3R & AR

2. Anita Desai / GFﬁ?ﬂaﬂT's;

3. Rudyard Kipling / F&ars fahufeiT

4. V.S. Naipaul / a1.qq. aurd

Correct Answer :-

+ V.S. Naipaul / 9. 09, ArUTd

Topic:- GENERAL REASONING

1) Find the missing number: / Y&l ST [ d P
4,196,16,169, ___ , 144,64

1.81

2.36

3.32

4.21



Correct Answer :-

» 36

2) Find the average. / 3N Td HY|
25, 35, 45, 55, 65 & 75

1. 48

2.50

3.47

4. 49

Correct Answer :-
e 50

3) The below series uses a sequence of alphabets and numbers. Identify the incorrect combination: /
W &t 1 g SeRi T e BT SIHH YN Hdl 8 | Ted I uga|

(i) FT85DF77ER

(ii) FT85DF77ER

(iii) FT85DE77ER

(iv) FT85DF77ER

4, iii

Correct Answer :-

4) A and B together can complete a piece of work in 10 days and B alone can complete the same work in 20
days. In how many days can A alone complete the work? /

A 3R B U® 1Y BTH & T HIT HI 10 a1 & THIE $Id & 3R B 3Pbd 34T B &1 20 fe= & IH Ha1 21
fopaa e & A 3P A I HTH B THTW B T 2|

1. 20 days/ 20 faq
2.30days /30 faq
3. 10 days/ 10 fa=

4. 25 days/ 25 faa



Correct Answer :-

« 20 days /20 feH

5) Which one of the following four addresses is NOT EXACTLY same as the one given below?

frafefed faw 7T ar ual # 9 = i 71¢ ud & Sie w9 319 |1 0 781 82

Ground Floor, 59 Goulburn St
Sydney, NSW 2000 Australia
+61 (02) 8987 3700

(i) Ground Floor, 59 Goulburn St
Sydney, NSW 2000 Australia
+61 (02) 8987 3700

(ii) Ground Floor, 59 Goulburn St
Sydney, NSW 2000 Australia
+61 (02) 8987 3700

(iii) Ground Floor, 59 Govlburn St
Sqdney, NSW 2000 Australia
+61 (02) 8987 3700

(iv) Ground Floor, 59 Goulburn St
Sydney, NSW 2000 Australia

+61 (02) 8987 3700

4, iii

Correct Answer :-

6) In a group of 75 people, 32 of them like cold drink, 56 of them like general water and each person likes
at least one of the two drinks. How many people like both? /

75 ARN & g H, 379 A 32 P Pics f$F Wi 8, 374 A 56 B GHN od UG § 3R AP Al
DI H A FH Y HH TS T WIS 2| fraa @l &1 34 gdig &2

1.11

2.13



3.12

4. 14

Correct Answer :-

. 13

7) If A =1, FAT = 27, then FAITH = ? /
gfd A =1, FAT = 27, @ FAITH = ?

1.41

2. 40

3.42

4. 44

Correct Answer :-

. 44

Topic:- PEDAGOGY

1) CANCELLED

Basic education became a major initiative because of the efforts of: /
wruftre fRrem f= & war | U Agayul Sriwy 949 S:

1. Dr. Radhakrishnan / ST TG WA

2. Dr. Rajendra Prasad / S1. X[ol=< UHTG

3. Mahatma Gandhi / HgTHT gt

4. Rabindranath Tagore / TS-&TY TR

Correct Answer :-

« Mahatma Gandhi / T et

2) The “clause of phrase” is an unit of perception of: / "TST A(h et feT T €T FY TH THTS &
1. Image / =fa

2. Concept / sragmom

3. Language / HTUT

4. Thought / fa=m=

Correct Answer :-



» Language / {TUT

3) Which method is most suitable to study communication process among students? /

BTE & S R Uihar &1 Srera= H1 & fore &1 W Al gaw Sugaa 22
1. Case Study/tl'lﬂ@fﬁ ST mﬁ?ﬁ)

2. Systematic Observation / AT Sadidh

3. Experimental Method / TN fafd

4. Introspection / 3{TH-FRI&OT (3@@55&:0

Correct Answer :-

o Systematic Observation / AT Sadide

4) Genes in a human being are located in: / ATa) & S| E-'Fl'ef @ EﬁT'IT %:

1. cytoplasm / HIRTDT G (HTZCITITH)
2. ribosomes / TIS_@I@T[

3. cell membranes / BITRABT %Ic_vﬁ

4. chromosomes / TJUI_A mﬂ)

Correct Answer :-

» chromosomes / JJURLA @Tﬁ@'ﬂ)

5) With smaller classes, teachers are much more able to ./

I Benait F w1y, Rierw # aiftre werm B ¥

1. Go slow while teaching / FRI&UT & SR efieft e @ o

2. Narrate more personal experiences / 31fde AfdrTd \?dﬂll?lﬁ CAKGIS]

3. Adapt instruction to individual differences among students / BTAI & sd AfdATd TdNal & ol S d e o
4. Make use of the extra space for extra-curricular activities / UrSdaR Tfafafeay & ﬁ«m ffafvad ST bl JUINT B

Correct Answer :-

 Adapt instruction to individual differences among students / B & s AfdaTd Tddal & ol S RCIN] ST

6) While engaging in a task, the child gets bored. This is a sign of: /
U B H & g1 R, I1 39 ATdT ¢ | 98 A9 &1 dPd &
1. the task requiring a professional approach. / B B ATTHAD VDIV B ATl %I



2. the task becoming mechanically repetitive. / D, GifAdh & Y Ggrd diefl g
3. the child not being intelligent. / =T §fGHH el g

4. the child being incapable of learning. / I=[ BSIECER:| Wﬁ%l

Correct Answer :-

« the task becoming mechanically repetitive. /BT, ifAe U I G1eR1d ara g |

7) Educational Psychologists are more concerned with the learning in ./
Qeifdre T, # aiftrma & Ay eiftres Rifaa 913§

1. Formal environment / 3= ardTaRun

2. Informal environment / 3TN qTdTaRuT

3. Physical environment / Wi ardraRo

4. Social environment / AT ITATAROT

Correct Answer :-

e Formal environment / NI qTdTaRon

8) Special needs education is the type of education: / fa=i wRel arelt e ag Ruem gidt %, ST
1. Given to person with disabilities. / 3&H B ESCARARSIGI] %I

2. Given to people from remote areas. / GX&[ &1 & ATl B & STt %I

3. Provided to intelligent people. / §@Iﬂ:{ NUEAERSINI] % I

4. Established by colonial masters. / &ﬁtrﬁéﬁm H@Tﬂ&ﬁ GIRT R BT Tlé %I

Correct Answer :-
« Given to person with disabilities. / 31&H Safad P! &t ST g |

9) The Stanford-Binet scale of intelligence was first published in the year: /
IS & RAwIs-fie Wd o 39 a9 A ugelt IR UHTRra f5ar v ur:

1. 1916

2. 1903

3. 1908

4. 1900

Correct Answer :-

» 1916



10) The term ‘fictional finalism’ was propounded by: /

Ug ‘wfedd yaieHare (FraREa wigfersH) g% gRT ufaurfed far mar .
1. Skinner / RHTR
2. Freud /IS

3. Adler /USSR
4. Pavlov / UTddlld

Correct Answer :-

o Adler /TSR

11) Rational Emotive Behavior Therapy was propounded by: /
THIUTA HITATTS g X e & g1 ufaarfea 91 15 &:
1. Carl Jung / W?T

2. Carl Rogers / CANRISES]

3. Aaron Beck / 3RIF d&

4. Albert Ellis / 3fcsic Tferd

Correct Answer :-

« Albert Ellis / 3fcsc Tferg

12) Which of the following indicates the quality of education in a school? /

Frafafad & 3 w1 v w@a o Rien 3t o o1 Jdas 82

1. Text-books and Teaching-learning material / tl'l_o“_d—gﬁ% quT Rrefor 9 Wiaq ¥ dafda arht
2. Infrastructural facilities at the school / ¥ ¢l T YRYd HERRCIRG] {-[%W

3. Student achievement level / fa@nffal &1 Iuafes TR

4. Classroom systems / P&l DI AT

Correct Answer :-

« Student achievement level / fa=NRIA} 1 Iuafes TR

13) Which of the following teachers can be identified with authoritarian teaching style?/
Frafafea 3 @ o a1 e, sfierard) Rigmr it & |1y ggam@T o 9@ 72

1. Laissez-faire teacher/ e e



2. Democratic teacher/ RICGEIRRELAED
3. Indifferent teacher / fTsaes fRIe/em

4. Direct instruction teacher/ Y&l fdw fRrerw

Correct Answer :-

e Direct instruction teacher/ Y& dw e

14) Who was the pioneer of classical conditioning? /
feRufaffa wgee @ Ried SSIT) & yade o1 &2
1. Skinner / RpR

2. Pavlov / Uraeiia

3. Kohler / PIgeR

4, Freud / IS

Correct Answer :-

« Pavlov/Ulddld

15) Which of the following are true with reference to short term memory?
1. Limited capacity
2. Brief storage of information
3. Unlimited capacity
4. Duration of storage less than twenty seconds
| srsTiere Wi & T & A o & w82
1. i e
2. AT $T Aierad HsrRor
3. 3R &t
4. T AP S A $H HSRUI FT @i
1.3 and 4/3 3R 4
2.2and4/2 3R 4
3.13and4/13 3R 4

4.1,2 and 4 /1,2 3R 4

Correct Answer :-

e 1,2 and4/1,2 3R 4



Topic:- GEOGRAPHY

1) Which of the following ranges of population size is used to define Class-III city by Indian Census? /

YR ST gIRT 931-11 ;reR &1 yRH1id 31 & fore fAufafad A @ 59 39 & S99en mer
ST UGN fhaT ST 82

1. 20, 000 to 49,999 / 20, 000 | 49,999
2.30,000 to 59,999/ 30,000 | 59,999
3. 24,000 to 54,999 / 24,000 3 54,999
4. 50,000 to 99,999 / 50,000 | 99,999

Correct Answer :-

« 20, 000 to 49,999 /20, 000 | 49,999

2) Carbonaceous rocks which produce coal and oil belong to the category of rocks called ./

DA 3R AT BT SATGH HIA ATl HIETgad agH, AmH® Tgl @1 9oft I w&fta B
1. metamorphic / TUidRd

2. sedimentary / GG

3. inorganic / 3fSfdd

4. igneous / 3TUT

Correct Answer :-

« sedimentary / 3{aardt

3) The ruhr-complex is a major industrial centre in: / TR-URR g &1 Th Y9 NNfre Fg %:
1. North America / <1 3@R@®T
2. Russia /&Y

3. Germany / SH
4, Europe / t@ﬂ

Correct Answer :-

« Germany / ST

4) The term ‘Regur’ refers to: / Xeq ‘W’

1. Deltaic alluvial soils / Seel STallg [HG]



2. Laterite soils / TICRISC &I@
3. Red and yellow soils / olel 3R dich &I@of
4. Black cotton soils / Tl mﬁ@

Correct Answer :-

« Black cotton soils / Tt mﬁ@
5) Read the given statements and answer which of the following options is/are correct?
1. Lower the pressure, greater the atmospheric disturbance.

2. Air move from higher to low pressure. /

feu e By P ¢ MR IR < for Ay A &+ /4 fapea Tl &2

1. Fora=1 1@ o9 81, argHS g STUTE Sa-1 3ifere gt |

2. 91 3 | 19 /@ B 3R 7Ife Hedt B

1. Both Statements 1 and 2 are correct. / GIF1 B 1 3R 2 TG § |

2. Both Statements 1 and 2 are wrong. / &I HY 1 3R 2 TAT & |

3. Statement 1 is wrong and only Statement 2 is correct. / B 1 7TAd § 3R Hdd HYT 2 TeI g

4, Statement 1 is correct and Statement 2 is wrong. / @Y 1 “v'lg)[ %’ GﬁT DY 2 ITAd %I

Correct Answer :-

« Both Statements 1 and 2 are correct. / Eﬁ:ﬁ$2ﬂ 132 ﬂﬁ%l

6) CANCELLED

As per the Census 2011, arrange the literacy rates of the following states in descending order. /

SAIOTEAT 2011 o IR, T T TG Tl &l TaT AT e 3Haiel hA & oId ieed Hll
1. Kerala /&hdal
2. Punjab / OSE
3. Tamil Nadu / d iﬂﬂﬂaﬁ
4. Uttar Pradesh / 3ca{ 9car
1.4,1,2and3/4,1,2 3R 3
2.4,1,3and2/4,1,3 3R 2
3.1,4,2and3 /1,4, 23R 3

4.1,4,3and2/1,4,33R2

Correct Answer :-



« 1,4,3and2/1,4,33R2

7) CANCELLED

Karl Pearson’s correlation co-efficient is: / & foaf= WW‘HW%
1. Arithmetic mean / HHI-dX HI]

2. Geometric mean / ?!Uilﬂ? HIY

3. None of these /Eﬁ@ﬁ'ﬁgﬁ

4. Harmonic mean / X[ D HIY

Correct Answer :-

» Geometric mean / ?!Uilﬂq HIY

8) CANCELLED

“Each day is more or less the same, the morning is clear and bright with a sea breeze; as the Sun climbs
high in the sky, heat mounts up, dark clouds form, then rain comes with thunder lighting. But rain is soon
over”. Which of the following regions is described in the above passage? /

TP 7 TuA A Sif¥e a1 HH gia1 8, TYS $1 91 & 914 WY 3R I=ad Jag gidl g; 98 Jd
STHT & HdT Tl g, THI 9¢ ST} 8, BTl 95 a1d &, fibx fasrelt & Iy arivar et @1 dfee
IR STt WA 1 STl 8 1 SURIad ursy # FFufafaa & A foe &= &1 quf= foear man @2

1. Equatorial / @mi@u

2. Equatorial / {qwh?ﬂu

3. Savannah / HdTdTl

4. Mediterranean / 3Niaie (%W)
5. Mediterranean / 3RS (ﬂﬁrwﬁﬁ)

6. Monsoon / HI{T
7. Monsoon / HIYA

Correct Answer :-

« Equatorial / {qwﬁﬂn
 Equatorial / a[ﬁrwi@tr
9) CANCELLED

In which epoch of the geological history of the Earth, dinosaurs reached their largest size? /

q@%wﬁm%mwﬁ,mmmﬁmwu@?



1. Triassic / ‘gﬁﬁ@

2. Jurassic /\_{RTW

3. Cretaceous / SICR
4. Permian / G5

Correct Answer :-

« Jurassic / \_{R—Im

10) CANCELLED

A spring tide would occur in which of the following conditions? /

Frafafeaa & 9 fo Rufoal & SaR-urer smar 82

1. When the Sun, Moon and Earth are in a straight line. /
e Y, FEAT R gt U R @ A 1 7

2. When the Moon and Earth are in right angle to each other. /
TS AT 3R Yol Th-guR & alfg P H gld |

3. When the Earth and Moon are in right angle to the Sun. /
o gt TR <5 P & qlfe ST H EId 5

4, When the Sun and Moon are in right angle to each other. /
w7 G SR ST TR F R P A &R B

Correct Answer :-

« When the Sun, Moon and Earth are in a straight line. /

o Y, T 3R gt v e Rar A g B

11) CANCELLED

An observe on the Earth’s surface always sees the same face of the moon because: /

TP Tders o gt 3 Hag A §A 91G 3T IS §) Bad fears a1 8, Fifd:

1. Its path of revolution around the earth is the same as that of the earth around the Sun. /
391 Gl & IRI 3R uReh w1 &1 {1 Y & IRT 3R Jedt & A & B

2. Its period of revolution around the Earth is the same as its period of rotation around its own axis. /
THD! Gt & IRT SR URHHUI Bt 3afd I 30 Y & IR 3R YU Bt 3(afd & A g

3. Its period of rotation is the same as that of the Earth. / EQIET) qpﬁ CARCCIR q&'ﬂ & A g



4. Tts direct of rotation is the same as that of Earth. / qpﬁ Cal IEQII qm"r & U= ﬁ %I

Correct Answer :-

« Its period of revolution around the Earth is the same as its period of rotation around its own axis. /

P! Gt & IRI 3R URHHUT B Ay It 3T ¢ & ARY 3R ol &t 3afty & T B
12) CANCELLED

The pebbles that are faceted by the sand-blasting and shaped, polished by the wind abrasions are known as:
/

o Tgy gRT uitersr, Ya-fawpifed iR 9id & o e & 9 H TS g
1. Dreikanter / A®I0I®
2. Pediments / FAPI®T

3. Inselberg / 37@?137?
4. Dunes / Cidl

Correct Answer :-

« Dreikanter / IR

13) CANCELLED

Astronomical unit is the average distance between: / e Wlé - & 39 $1 3fd @ %’I
1. Earth and Mars / qzaﬁ 3R He

2. Earth and mercury / q_%a’ﬁ 3R qgY

3. Earth and moon / q?a? 3R g

4. Earth and Sun / qzaﬂ 3R H}f

Correct Answer :-

« Earth and Sun/ qzaﬂ 3R H}f

14) During cold weather season, in the northern plains there will be an inflow of cyclonic disturbances
from the directions. /

ia W & R, SO A saTdi ° faamait A gehard Tath Tsa) &1 sidafs ghm
1. East and Northwest / Jd 3R STRUIEH

2. East and Northeast / Jd 3R JaitR

3. West and East / Uf3H 3R qd



4. West and Northwest / T 3R 3TIFH

Correct Answer :-

o West and Northwest / q@'q 3ﬁT W@I’q

15) During an earth quake, the velocity of the body waves will along with the increase in density
of the material it is passing through. /

YHY & IR, TG P HUII HIT BT AT, Ted A g & A1Y-A1Y , St S99 IOk aTell a%g
DI 3 TETT |

1. not change / ol SgaT

2. increase initially and then decrease / J[23{Id T dem 3R R Temm
3. increase / a%_"IT

4. decrease / I

Correct Answer :-

. increase/aa,lll

16) The Clouded Leopard National park is situated in which of the following states? /
Frufafea d fa wea § yfia dgsn wgia Seme (eSS Aus Axrd urdh) fRua 82
1. Tripura / ﬁg\"{

2. Uttar Pradesh / SR UcR

3. Assam / 3{HH

4. Mizoram / fHSIRT

Correct Answer :-

o Tripura/ iaQQI

17) Usually the land surfaces are heated more quickly than the water surfaces, because .

3T IR R STe Aagl Bt ga1 d Y Jae 4fire aoi @ 7 gt 8, wife g
1. the specific heat of water is higher than land / gl &1 fafRry [ 1IN H&I T 3ifd®

2. the specific heat of water is lesser than land / CIEIK ﬁﬁm $HCHT 'J-L[&f I HY Bﬁ?ﬂ

3. the latent heat of water is higher than the land / IEik] 3‘|ﬂﬁ%ﬁ HEHT ﬂ-ﬂ:t[ @[ 3feH

4. the land reflects more heat radiation than water / 1;[&[ Ut &l NI T 3{f% HWAT & fafdor 1 wiafaa
ERG|




Correct Answer :-

« the specific heat of water is higher than land / Ut 1 TRy e, 31[&[ 9 3fed

18) The longest shore-line is along the state of: / qqY ddt m‘&qi‘m T s Iy %:
1. Maharashtra / HEIRTY

2. Orissa / B@GT

3. Kerala / R

4. Gujarat / 7[oIRTd
Correct Answer :-

+ Gujarat / 7oIRTd

19) The position when the Earth is farthest from the Sun is known as: /

o9 7 g 9 G g gl €, <t 39 fRufa &t A A 3 s s 8:
1. Perihelion / STIR

2. Vernal Equinox / S ﬁ'ﬂﬁ'

3. Aphelion / TR

4. Autumnal Equinox / RIRechTc] ﬁ'ﬂa

Correct Answer :-

« Aphelion / TR

20) The seasonal reversal of winds is the typical characteristic of: /
gasi T uiads & gm=a fAwar g1

1. Mediterranean climates only / &Had HFWPT@W NNEIE

2. All of the above climates / G’qgaﬂ Tt g

3. Monsoon climate only / PHad HIAYA Sleldly

4. Equatorial climate only / bdd Q{HW NNEIE

Correct Answer :-

« Monsoon climate only / hdd HHYA Serdrg

21) In rocks, the minerals will occurs in beds or layers. /



_ GEFIHEMY, da QT RAI H B & |

1. metamorphic / CIRIGIRG|

2. igneous and metamorphic / 3T 3R HIaTaRa
3. igneous / Y

4, sedimentary / SRS

Correct Answer :-

« sedimentary / 3faardt

22) Black soil is ideal for the cultivation of cotton as: / HUTH @1 Wl & forg HTent ﬁl'gpf ezt %, FaifP:
1. Its colour is black. / g BT Eﬁ?ﬁ % |

2. It is found on plateau regions. / g USIR &= o urf} ot |1

3. It is made up of lava. /%W@Tﬁ@?ﬁ%l

4. It can retain moisture. /Zl_s"_ﬂﬂﬁ TRHIR TG bl %I

Correct Answer :-

« [t can retain moisture. /Zl_s"_ﬂﬂﬁ TRHIR TG bl %I

23) The National Survey and Mapping Organization of the country works under the Department of
./

G0 BT ITPTT TGO 3R AR E13 faum & siaia o1t HRar 3|
1. Space / 3fafvef
2. Science and Technology / ERIG 3R qHp

3. Culture/ Wﬁf
4. Tourism / e

Correct Answer :-

« Science and Technology / fasm 3R dH1H

24) Palk strait separates India from: / UT® STASHEHHA, HRd I P 3T HRAT B |
1. Pakistan / OTfch &

2. Andaman Island / 3[SHME Qofq

3. China / 919



4. Sri Lanka / #IdbT

Correct Answer :-

« Sri Lanka / JTcihT

25) Which among the following state is the major producer of Bauxite in India? /
fFrafafeaa @ o9 91 7Sy, YR § SiedTse S THE SUGH 872

1. Madhya Pradesh / TG

2. Rajasthan / XISTRITH

3. Goa / TIdT

4. Orissa / G_EﬂﬂT

Correct Answer :-

. Orissa/Bg T

26) Which of the following states DOES NOT share border with Chhattisgarh? /
Frufefea 9 @ o9 a1 37su SRTe & ATy WA 91e 8] a1 o2

1. Telangana / BRI

2. Uttar Pradesh / 3TR UG

3. Bihar / f98R

4. Andhra Pradesh / 3¢ EI%—‘ZT

Correct Answer :-

. Bihar /S8R

27) Which of the following statements is INCORRECT with respect to parallels of latitudes? /
& & FAHIGR] & ey # Frafafad 3§ 9 o9 91 sy 794 82
1. A line joining places of equal latitude is known as parallel of largest. /
A &I & T DI S arelt 36T D1 fIaaq & AR & =0 H §HT S 8l
2. They stat from equator and run parallels to it. /
J YIS T URY Bld g 3R STb THHIGR Iad g |

3. All parallels are equal in length. / gt gHfaR ?ﬁﬂg oA % |

4, All parallels are drawn as circles on the globe. / e R g IR CJTI\I' & =0 H WGld o %I



Correct Answer :-

o All parallels are equal in length. /Y THIR Q'idlig o qHH %I

28) Which of the following Indian states is also known as a ‘Land of Red river and Blue Hills’? /
Frafafaa 3 9 fa urda a0 ot ara 9 iR et vsifsal 1 Yftr & 7 3 s s g2
1. Uttarkhand / STRIGS

2. Assam / 3UH

3. Meghalaya / 5| D)

4. Arunachal Pradesh / 3{SUTTId UGRT

Correct Answer :-

o Assam / 3HH

29) In spatial analysis of settlement, R, = 2.15 indicates which type of settlement arrangement? /

fAue & wifae fagdwur §, R, = 2.15 T8 39 Fvar © fr 59 yoR 9 fAueq srawin g2
1. Uniform /Qﬁ'fﬁﬁ
2. Semi-Clustered /ﬁjﬂ—w

3. Clustered / deI&cX}
4. Random /ﬁ?ﬂ:[

Correct Answer :-

o Uniform /QIIEI'EI'T\IJ'JZCI

30) Who are known as the ‘Yellow People’? / Il fiuer & =Y ﬁ?ﬁq\_rl'HT\_rl'lT'lT%?
1. Mongoloids / Iﬁ"’ﬁ?ﬁg@ﬂ

2. Nigroids / :ﬂ"/ﬂm

3. Australoids / 3{\’@,\@'\[’5@

4. Caucasoids / m@ﬂ

Correct Answer :-

« Mongoloids / m



Who publishes the topographical map of India? / HIRd g RIW HFH B DI YDBTIRIT BT 82
1. Geographical Survey of India / HRd T HIMeI Tde&ur

2. Government of India / HIRd YIH R

3. Geological Survey of India / URA & q-E'W-ﬂ:i:f e

4, Survey of India / WWH&&WT

Correct Answer :-

. Survey of India / HIRd T AT

32) Who among the following claimed geography to be the ‘Ecology of Man’? /
frafafea 9 9 f5am .pia & 7w &1 uRkfRfaest @g1 82

1. Alfred Hettner / mm

2. Vidal-de la Blache / ?JIEEFT-% NICYIEY

3. Otto Schluter / ehz‘rwv

4. Harlan Barrow/B?@FfEﬂ'\Pf

Correct Answer :-

« Harlan Barrow / 62@3 IR

33) Who among the following is regarded as the founder of humanistic approach in geography? /
Frafafeaa o 3 52 yma & araamard: ¥aivr ST SRITas 9 =1 ST 32

1. William Bunge /ﬁﬁ’mﬂﬁq

2. Yi-Fu-Tuan /Zﬁ—?—?qﬁ

3. Brain JL Berry/aq@mﬂaﬂ

4. Richard Peet /ﬁa‘s‘ dle

Correct Answer :-

e Yi-Fu-Tuan /?ﬂ-T-RTFT

34) Who prepared Lorenz curve? / NS 9% fHaq dar foar
1. Geddes / TsH

2. None of these /3_'{3[ q ﬁ_sc :IB°I
3. Griffith Taylor / BIfthY ¢eR



4. Max. U. Lorenz / fﬁﬁ[q\m

Correct Answer :-

« Max. U. Lorenz / ﬁwqr«hﬁ

35) Gulf Streams are the currents of which of the following oceans? /
el 1 yRTe iR AgrrRI & A feas arRm 8>

1. North Atlantic Ocean / 3R] 3cdilcH HETHANR

2. North Pacific Ocean / 371 URITd HETETR
3. Arabian Sea / SR R
4. South Pacific Ocean /ETEFUT URITd HENIR

Correct Answer :-

« North Atlantic Ocean / TR 3fcdilcd AN

36) Disintegration, wearing away and removal of rock material is generally referred as: /

e uerd (37 Tt &1 ger, fired ik geAr AR R & ¥y d ehifa frar sar 31
1. Shattering / fqwEgPRD

2. Denudation / 3{-T<8Tgd

3. Fault/ YT

4. Decomposition / ICEISE]

Correct Answer :-

« Denudation / 3{T=9Tg

37) Variations in the length of day time and night from season to season are due to: /

Haw | Haw uiads i, 37 & 999 ok 7d & a0y 91 erafy # fiaarg fa R 3 gt @

1. The Earth’s revolution round the Sun in an elliptical manner / q%ﬁ 3l a\l'tqumdﬂi SRC ﬁﬁ% IRI E;Uﬁ
2. The Earth’s rotation on its axis / q?fﬂ CAERE @ R qUﬁ

3. Revolution of the Earth on a tilted axis / 9d 3{& U qzaﬁ gl EI;Uﬁ

4, Latitudinal position of the place / ¥ DI SR R

Correct Answer :-

 Revolution of the Earth on a tilted axis / d 3{& U q?fﬁ gl E[Uﬁ



38) Point out the correct sequence of mountain ranges from north to south. /
IR W SfeH0T 9% Udd gl & el 3IhH B SR B
1. Great Himalaya, Middle Himalaya, Outer Himalaya, Trans Himalaya. /

e ferTay, Hen ferTey, Sl fevre, ox1 feure |

2. Middle Himalaya, Great Himalaya, Trans Himalaya, Outer Himalaya. /

Tey furer, A fenrem, W fieared, el fearer |

3. Outer Himalaya, Middle Himalaya, Great Himalaya, Trans Himalaya. /

aTe fewrer, g fearey, ger fgarerd, uv1 fgared|

4. Trans Himalaya, Great Himalaya, Middle Himalaya, Outer Himalaya. /
w1 fe e, et fewTerd, Her fowrad, s fewmer|

Correct Answer :-

« Trans Himalaya, Great Himalaya, Middle Himalaya, Outer Himalaya. /

W1 feATery, v fewrer, A fewrer, srel feArery |

39) Sun’s halo is produced by the refraction of light in: / '\‘Iﬂf BT UHTHSA H UHTI & U g

SAA EAT e

1. Ice crystals in Cirrro-Cumulus clouds / U&ETH-pUTH el & 90 fohed
2. Ice crystal in Cirrus clouds / TeTyae & 90 fohed

3. Dust particles in Stratus clouds / %] oYl & Yol P

4, Water vapour in Stratus clouds / TR Al & o arg

Correct Answer :-

« Ice crystal in Cirrus clouds / TeTyHe & 9% fohed

40) Read the given statements and answer which of the following options is/are correct?
(1) The minerals present in the rocks exposed to atmosphere are not subjected to alteration.
(2) Oxidation is one of the processes of chemical weathering. /

fou e Y=Y @+ v 3R IR < fF g A F #1991/ Apey ) 82

(1) ATGAYSH T 3FTgd A # SuRyd @i, ulad & e 8 gar 81

@) it IaE Sruera ot ufharsi A 4 T g1



1. Both statements are wrong. / Ei|:i|' DHYAq W%I
2. Both statements are correct. / a-l'_‘” $2F'fﬂ€f%|

3. First statement is wrong and second statement is correct. / Ug Il b T[cid % 3'ﬁ7 U DY H_EET%I
4, First statement is correct and second statement is wrong. / Ugcll b ?I?)[% GﬁT GIRT P YA W%I

Correct Answer :-

« First statement is wrong and second statement is correct. / Ug <l Y Teld % 3ﬁ? GERT P YA “v'l_spf %I

41) Read the given statements and answer which of the following options is/are correct?

1. Sun’s short waves enter the earth partially heating the atmosphere.

2. Heated earth surface from the sun produces broader waves which interacts and heats the atmosphere. /
fou e YT F) v 3R IR ¢ o g ° @ P9 91/9 farea 98l 82

1. G4 $t SIS ¥ At § i U A 7= Heedl g R agHSd Bl Hird Hdl ¢

2. 4 & Sia gt $t Tas favariyd a7 Sud Hdl @ o IRER YHTE STad! 3 iR argHsd &t
Sd Bl 2|

1. Both Statements 1 and 2 are correct. / Eﬁ:ﬁ$2ﬁ 1 GﬁT 2 ﬂﬁ%l

2. Both Statements 1 and 2 are wrong. / a:ﬁ$?«l7'f 1 G‘ﬁT 2 77cdd %I

3. Statement 1 is wrong and only Statement 2 is correct. / Y- 1 TIT’IT‘T% 3'?|T HIA HYA 2 ﬂﬁ %l
4, Only statement 1 is correct. /W DY 1 F—Eﬂ %’I

Correct Answer :-

» Both Statements 1 and 2 are correct. / E‘ﬁ—rﬁ$2ﬂ 1 GﬁT 2 H@T%I

42) Read the given statements and answer which of the following options is/are correct?

(1)The rocks that get changed due to heat and pressure are termed as metamorphic rocks.

(2)Slate is one such type of metamorphic rock. /

fou e Y=Y 1 v 3R IR < P g A A #1991/ Apey Ol 82

(1) A S ST 3R G1d & HROT ufkafdd g1 91d § S PRAaRS Al & &4 § ST o1l g
(2) W TP a3E DT PR Ad gl

1. Both statements are wrong. / Eﬁ:ﬁ DY IAd %I

2. Both statements are correct. / T U ﬂfﬁ%l

3. First statement is wrong and second statement is correct. / Ug Il Y- Tcid % 3ﬁ? GRTPYA 1v-l_spf %I



4, First statement is correct and second statement is wrong. / Ugcll b ﬂé}f% 3R G hY TIFIT‘[%I

Correct Answer :-

« Both statements are correct. / a:ﬁ$?4:[ ﬂﬁ%l

43) Read the given statements and answer which of the following options is/are correct?
1. Higher temperature anomaly is observed in the northern hemisphere.

2. Differential heating is absent in Northern Hemisphere. /

fou e Y=Y @+ v 3R IR < fF g A F +19 91/3 Apey Ol 82

1. I Maref & 3= arge= fafa urd et 31

2. I el 7 iR oA Ui gl 81

1. Both Statements 1 and 2 are correct. / ?ﬁ—rﬁ$2ﬂ 1 GﬁT 2 H@T%I

2. Both Statements 1 and 2 are wrong. / a:ﬁ$24:f 1 Q'ﬁT 2 W%I

3. Statement 1 is wrong and Statement 2 is correct. / DY 1 TIFR‘T% 3%? DHYq 2 ﬂé)[ %I
4, Statement 1 is correct and Statement 2 is wrong. / PY 1 ﬂﬁf % 3R HY 2 TTAd %I

Correct Answer :-

« Statement 1 is correct and Statement 2 is wrong. / PY- 1 ﬂﬁf % G-ﬁT DY 2 ITAd %I

44) Read the given statements and answer which of the following options is/are correct?

(1) Plutonic rocks are intrusive type of igneous rocks.

(2) It cools very slowly because the surrounding rock serves as insulation around the intrusion of magma. /
f3T T HyT ®1 U ok IW ¢ for e F A 1 1/ faew Wi 92

() fRacha A« siqdeht yeR & emiw o 21

(;33;33 fiR-¥ ST BlaT @ TP SM-uTg & A AT F fad e & IR iR A & =0 & S
|

1. Both statements are wrong. / all:” DHYAq W%I
2. Both statements are correct. / a:ﬁ$24:f ﬂ_s&%l

3. First statement is wrong and second statement is correct. / Ugcll b I[cid % G?IT GRT P Y ﬂﬁ%l

4. First statement is correct and second statement is wrong. / Ugcll by ﬂﬁf% 3R GIRT P YA TIFIT‘T%

Correct Answer :-

« Both statements are correct. / 3-|'_‘i|. DY H_GQI%I



45) The dust and ash material hurled from the volcanoes are termed as: /

SaTargd! ¥ e arel Y& iR TRa qreest &) FEUA FETACI I
1. Pyroclastic / U@W
2. Hyperclastic / BTSURGAIRCH

3. Hepiroclastic / W
4. Cirroclastic / RRIgaRes

Correct Answer :-

« Pyroclastic / USRI D

46) The vertical difference in elevation between a low tide and high tide is referred as: /
PHOR IR IA TR P T HAS A dgad eiay A HeHagiar gl

1. Tidal slope / SAR &A™

2. Tidal elevation / SARIY IAIT

3. Tidal range / AR R

4. Tidal height / ORI 318

Correct Answer :-

« Tidal range / SR ORI

47) The maximum biodiversity is found in which of the following regions? / Frafefed &= 7 § sritead
wia fafaerar forasd urdt et 82

1. Amazon Basin / Hﬁﬁ:{ aRE
2. East Indies / éﬁ 3@\_5[

3. Congo Basin / CAMIGIRE]

4. West indies /?':R?:’ 3@3

Correct Answer :-

« Amazon Basin / \Hﬂ\_FFT IR

48) The cultivation of rice crop produces ./ IT9d D1 B B Gl &1 IUTGH HIdl %I

1. SO,



2. CHy4

3. CFCs

4, C02

Correct Answer :-

« CHy

49) The pressure system with higher pressure at the centre is called ./
&% W I ¢a1d aTelt gaTd JuTTelt i FEIAEIG

1. front / YU

2. depression / dTHA
3. cyclone / debdld
4, anti-cyclone /Elﬁﬁlm'lﬁ

Correct Answer :-

« anti-cyclone / Ufdaehard

50) The Himalayan region is poor in mineral resources because: / feuTerdt &= Eﬁlﬁwiﬁﬁw
eI ¢ FifP:
1. The displacement of rock strata has disturbed the arrangement of rocks and made it complex. /
el IRA & IR A IS} Bt a1 BT Sfafyd o fear § iR 38 Sfed s fean g
2. The climate conditions are not suitable for exploitation of minerals. /
Ay &1 fRufa @Sl & qlg & foe Suged A8t 8 |
3. The terrain makes explanation of minerals difficult and very costly due to transportation difficulties. /
YU IRaE B HISTSA! & HRUI @lAoll b1 algd Gk 3R Jgd HeT ST Gl g |
4, It is made up of crystalline rocks. / g Mﬂ@:ﬁ T %I

Correct Answer :-

« The displacement of rock strata has disturbed the arrangement of rocks and made it complex. /

Aclig IR & fIRITTA 3 IS &1 AT Y STafeyd HR a1 8 3R 3 oifed a1 flean ]

51) The process through which the moisture is added to the atmosphere by vegetation is termed as: /

ag ufehar foras ATerd ¥ g9l gRT ardarazor & 94 famd) St 8, P EUH A AT 2|



1. Condensation / J9_q

2. Evapotranspiration / TA-I oA
3. Radiation / fafameor

4. Precipitation / CLLY|

Correct Answer :-

« Evapotranspiration / TA-I o

52) The process through which the terrestrial heat is transferred to air by direct contact is termed as: /

g8 ufhar foraH U JUS gRI AT SHI A A ™FART g odls, $FEUA A ol gl
1. Conduction / Tl

2. Convection / Tdgd

3. Insolation / 3{Td4-

4, Radiation / fafameo

Correct Answer :-

o Conduction / dTclq

53) The largest area under mangroves is in which of the following states/union territory? /
At & siavia Frafifea Tl A TR Te d A Ted ST A P AT E?

1. Andaman and Nicobar / SUSHIH GﬁT IECAGIE

2. Andhra Pradesh / 3¢ USRI

3. West Bengal / UIEEEDIS

4. Gujarat / J[SIRId

Correct Answer :-

» West Bengal /tl'f\gﬂzf SHIG]

54) The longitudinal transverse and surface waves in an earthquake originate from: /
Web T H QU 3FUe 3R AeTe T Tl Iud gilt o:

1. The focus on the surface of the Earth / q&‘:ﬁ & Idg W Wﬁg o

2. The focus within the body of the Earth / G2t & HIeR rg-fag o

3. The epicenter within the body of the Earth / q%aﬁ & Hier IuRdhg o



4, The epicenter on the surface of the Earth / q&‘:ﬁ Ca Hdeg Ur 3URD [e) |

Correct Answer :-

« The focus within the body of the Earth / Gl & iR dg-foig o

55) The down slope movement of material due to gravity is called_ ./
TFETHYU & FRUT UG Ft e Mfadl  HeISIEar 3l

1. mass movement / qﬂT?fW

2. deposition / A&y

3. erosion / &RUT

4. volcanic movement / vdlﬂllj{qnlq NENE

Correct Answer :-

« mass movement / et I

56) Shimla is cooler than Amritsar although both are on the same latitude. This is because: /

Rraar & sryaaR | 3if¥re 33§, gTaifes gl T & 1R § 1 1 8, Fifb:

1. Shimla is at a greater height above sea level than Amritsar. / {HA¥IX Cil NSEl T Rer Y ddol ¥ 3ffIH
I8 W3l

2. Shimla is further north. / RIFAAT IR Pt 3R B
3. Shimla is farther from the equator. / FRIFa 'J-EWW J MBI
4, Their longitudes differ. / LA aQI'I(_‘R WI}Q' e %l

Correct Answer :-

« Shimla is at a greater height above sea level than Amritsar. / $fHd¥R Cil NSEl T Rer Y ddol ¥ 3ffIH
I8 W3l

57) ‘Tempo of Urbanization’ measures which of the following? /
g~ 1 cur Faffea d A s w32
1. Speed of urbanization / QIE“\EWQUI CARIG]

2. None of the above /%ﬁﬁaﬁgﬁ
3. Inequality of urbanization / QB B A

4. Current level of urbanization / QIE%'%?W maﬁnﬁw

Correct Answer :-



» Speed of urbanization / QIE“\EWQUI CARIIG]

58) Out of the following options, choose the INCORRECT statement? /
frafafed el § |, Tad Y= &1 997 B2
1. The clear tracts in the equatorial region recover rapidly. / {H& T H Wy HHIT SRR A % |
2. The stable communities include a redwood forest, a pine forest at high elevations. /
fRR IYerl & U& Y84 aH, 3 $dls IR Udh ¢daR o A 5|
3. Any ecosystem moves towards maximum biomass and stability to survive. /
P1S o ot &= Shifad 6= & o sifirmay Savef iRk fRRdr 3 R SRR BT g |

4, Tropical rain forests near equator are stable ecosystems. /

YA I & U SWrehiesehy auf a7 fRRR uifufas 33 €|

Correct Answer :-

« The clear tracts in the equatorial region recover rapidly. / HH® G H Wy HHIT ot T 31 81 91 B

59) Seasonal contrasts are maximum in: / :ﬁﬂ'ﬁﬁ favwar siftreaw %
1. Mid latitudes / A& &= H
2. Low attitudes / F9 3iefir A

3. High latitudes / 3o & &
4. Subtropics / SUTUIGICa T &F H

Correct Answer :-

« Mid latitudes / G &g &

60) In India, which type of forest among the following occupies the largest area? /
HRd ¥, Frafafed § 9 59 7o & 99 999 371 g% Sro1fed od 87

1. Sub-tropical Dry Evergreen Forest / 3U SLYUCATCL ) &b Haldglk d-

2. Mountain Wet Temperate Forest / gddig &ﬂ?(c T o

3. Tropical Moist Deciduous Forest / RLUCATE L E) 31'I7;<c tI'UfQ'IT'ﬂ d-d

4, Tropical Wet Evergreen Forest / RLUCARELI ) 3‘”3% HeldglR d4d

Correct Answer :-

« Tropical Moist Deciduous Forest / RLUCARGLE) Gﬂ?f quigTat a9



61) What is the proportion of ‘Juvenile Population’ (0-14 years) in India, as per 2011Census? /

%011 D FTHIUMET & AR, HRA § 'Fa-TSd UTTaA= I fH=NR SHESIT (0-14 TH) BT ST FT

1. 30.76 % of total population. /Wmﬁ 30.76 %
2. 27.64 % of total population. / P STTHBAT BT 27.64 %
3.29.33 % of total population. / Pl STAYRAT BT 29.33 %

4. 33.54 % of total population. / T STHEBHT DT 33.54 %

Correct Answer :-

« 30.76 % of total population. / P STHEBHT DT 30.76 %

62) What is the Belfast famous for? / JAPRE fHas mw %?
1. Belt of cotton textile industry / PUN d¥d IS &

2. Ship-building industry / STETSl FAHTOT SR

3. Agricultural machinery / w SUDRT[

4. Aero planes manufacturing / I fmfor

Correct Answer :-

« Ship-building industry / ST&TS fAATOT LT

63) What is the most important occupation in tropical monsoon lands? /
Swim et AT Y ¥ I99 Aeayul e /1 82

1. Mining / -4

2. Cattle rearing / EERIRISE]

3. Agriculture / w
4, Nomadic herding / Tfss Gﬁﬁ-@m

Correct Answer :-

 Agriculture / w

64) What is the most important characteristics of the islands (Indian) located in the Arabian sea?? /

3R IR # Ry giuf (WRd) ot 9ad Aeayuf faivar s g2



1. There are all of coral origins. / JHI PRA Hdl 3 %I

2. There are all very small in size. / g} 3THR | dgd 3T %I

3. They have a very dry climate. / g P olcldly dgd W%I

4. They are extended parts of the mainland. / q el & foxamid %@ % I

Correct Answer :-

 There are all of coral origins. / Tt W Hd & %"I

65) What do the basalt layers of the Deccan indicate? / SFH B JYTeT URd T Eﬁﬁf Yl %:?
1. All of the above / SURIaT Tt

2. Huge volcanic eruptions in the distant past / gXI¥&f 3rdia d fo=ma W]H@’q fawpre

3. The immense erosional activity of the rivers / qfeal ot favme &R fafafd

4. The influence of weathering / A9 &1 YHTd

Correct Answer :-

« Huge volcanic eruptions in the distant past / GX&I 3fciid § fa=ITe Sararg@iy faemie

66) In the structure of planet Earth, below the mantle, the core is mainly made up of ./

A TP TREN A dca R, sRgEFId_ Afffaaddl
1. aluminium / TeHITTH

2. silicon / RfereI1

3. chromium / SHITHTH

4. iron / QIGT

Correct Answer :-

. iron/?ﬁ%’[

67) One of the major Mid Oceanic Ridge is found in: / mnw-newihﬁtﬁ' a3 Udh H urar
STl

1. Mid Pacific Ocean / A% URITd SR
2. Mid Atlantic Ocean / A% 3{cdifcd AN
3. Mid Indian Ocean / HT HRAIG AR

4. Mid Arctic Ocean / A& 3Thfed HERINR



Correct Answer :-

« Mid Atlantic Ocean / 7% 3cdiicd ASINR

68) Magma that reaches the Earth’s surface and then solidifies is called /

BT ot gt B Heag 9@ ugadi 2 ik fihR o g Wil g, gl
1. quartz/m
2. lava / oldl

3. granite / fﬁlsa
4. silicates / Rifcrde

Correct Answer :-

e lava /Al

69) Isotherms are the lines of equal ./ Wwﬁ, THTH ﬁi@ﬁi'&ﬁ?ﬂ %'I
1. pressure / qId

2. temperature / dTUHIA

3. rainfall / auf

4. height/@ alé

Correct Answer :-

« temperature / dIUHIT

70) Mark the correct sequence of passes in the Western Ghats from north to south. /

g3t arel ® IR A i30T 9% < & At 3rehd Bt fafga HI

1. Thalghat, Palghat, Bhorghat / YeTiTdIC, UTeTUIC, URETe

2. Thalghat, Bhorghat, Palghat / UcTdIc, 'J-nTEITE’, OTefdric
3. Bhorghat, Thalghat, Palghat / ‘J-hTEI'I_C', YIdTIc, YUleTdlc
4. Palghat, Bhorghat, Thalghat / UIcTHIC, T, ydgre

Correct Answer :-

« Thalghat, Bhorghat, Palghat / YcTHIC, URHTe, Uradre

71) Which of the following does not have influence over the climate in India? /



FHIIRAd # I ThHPT YHTT HRd Bt TddY UR el USdl 8?2
1. Ocean currents / IR 1 W
2. Nearness to equator / ﬂ{qwi@ I Adear

3. Monsoons / HIF{A
4. Presence of Indian ocean / HRdT HeHNR &t IufRfa

Correct Answer :-

« Ocean currents / IR &I W

72) Which of the following cloud types has the characteristics like vertical, tall, narrow and puffy? /
frafafea 7 3 fod yeR & A4 § daad, o, Sotof ok Rear okt faivans g2

1. Cumulonimbus / qq;rrﬁﬂ*:{

2. Cumulus / g Q\TT

3. Cirrocumulus / ey s 7Y

4, Nimbostratus / CRIRSRRED|

Correct Answer :-

e Cumulus / Y QG[

73) Which of the following statement is INCORRECT about Crude Birth Rate? /
fFafafaa & o9 91 $Y= =N 571 &R & IR d 98t 18 82
1. It cannot be used for comparing fertility level between two countries with different population characteristics. /

P ITANT fafia ST faRivdrsi arel &l 4RI & &t Uo TR B ol o [0l Ta ohdT off ehdl g |

2. It is a standardized measure of fertility. /

g TS &A1 BT AFSHIHd SUTA ¢ |
3. It is effected by the age-sex composition of the population. /
g 3TETe B AT W1 ¥ YT g 3|

4. It is expressed per 1000 population in a given geographical unit. /

g foredt &Y 18 WMol 3o1s | Ufd 1000 SHEBAT IR 9 fhar ar g

Correct Answer :-

« It is a standardized measure of fertility. /

g TS &A1 BT AFSHIHd SUTA ¢ |



74) Which of the following state in India experienced negative decadal growth rate during 2001 to 2011
census? /

yRa # fRufefad 7 @ fg 3sg o adf 2001 F 2011 T TROAT F R THRIAS ARTGE R 532
1.Tripura/ﬁ'l1'\"[
2. Nagaland/?l"’lﬁ'_s'

3. Haryana /_Elf\’TITUﬂ
4. Odisha / 3fifgar

Correct Answer :-

« Nagaland / quné’s

75) Which of the following is NOT a characteristic of peninsular rivers? /

Frafeted § & o= @ v wragidia afeat & =81 a1 82

1. Flow through shallow valleys / Iyl wifed & Hrend ¥ dig

2. Seasonal flow / AT YaTg

3. Little erosional activity / YISl HeraeR Tiafafd

4. Meandering tendency, often shifting their beds / YHIGRR Elqﬁf, SR U Tl Dl RIMIART BT

Correct Answer :-

+ Meandering tendency, often shifting their beds / YHIAGIR EIQﬁL SRR 30U Tl B RIMHIART HRAT

76) Which of the following gases in the atmosphere absorbs heat from the Sun’s radiation and the Earth's
surface? /

TrgHsd | frafafad o 9 o 9t T i & fafdewor ok 7t 3t Ias S S ot sanfyd avdl 82
1. Neon / AT

2. Carbon dioxide / BT SRS S

3. Argon / 3T

4. Nitrogen / TSI

Correct Answer :-

« Carbon dioxide / BT STSIHTASS

77) Which of the following kind of settlement pattern is found at the confluence of rivers? /



MATRIT | ¥ 16" SR BT AT Y A1qdl & FITH IR T STl 82
1. Triangular Pattern /Waﬁ

2. Circular or Semi-Circular Pattern /qﬁtﬁtﬂ 3ref_ gz Ue

3. Nebular Pattern /ﬁ@fﬂaﬁ

4, Star —Shaped Pattern/ E’R-Wﬁaﬁ

Correct Answer :-

« Triangular Pattern /ﬁﬁvﬂuﬁﬁ

78) Which one was not the objective of the Biosphere Reserve Projects launched by the UNESCO? /
AP gRTIRE DI 1§ GIed SqHsd TRAISHIS T IeRT 579 A S T a1 UT?
1. To promote teaching and research / fRreror 3R STHYT Gl deldl o

2. To make agriculture sustainable / ?ﬁf CARAREAINE RIS
3. To conserve ecosystems / uiifRufae dF &1 TRig &=
4. To conserve genetic diversity for a longtime / e gHg dP Hﬂam fafaear ! TRfga e

Correct Answer :-

« To make agriculture sustainable / W CARARCAINEACEIE]

79) Which region of the Earth surface receives the highest amount of insulation? /
T} g BT P AT &F AUTERI BT S=aH AT YT BT 82

1. Land mass / RIS

2. Savannah region / HdI-[ &

3. Water bodies / SIcd IGEap|

4, Tropical desert / RLUCI R EIESIE]

Correct Answer :-

« Tropical desert / RLUEARCIBRUESIE]

80) Which one of the following is not a biodiversity hotspot? /

Frafafea 9 9 o= a1 4 fafauar o1 e e T8 82
1. Eastern Himalaya / t@f%w

2. Eastern Ghats /uﬁf‘arc’



3. Indo-Myanmar / HRd-FIHR
4. Westerm Ghats / g g1

Correct Answer :-

» Eastern Ghats /ugﬁ‘aﬁ

81) Which one of the following is NOT a part of the World Network of Biosphere Reserves based on the
UNESCO Man and Biosphere Programme? /

@E@ﬁWW%WWWmﬁﬁﬁHWW$ﬁ€WW

1. Gulf of Mannar / HAR ﬁ@'@
2. Seshachalam / m

3. Sunderban / W:[
4, Nilgiri / Ty

Correct Answer :-

« Seshachalam /'Q-]WT[

82) Which one of the following is an example of “desert vegetation”? /
Frafafed # @ o aewrd i $1 0 3amo 2

1. Mosses and lichens / GG d 3R RdTd

2. Temperate grassland / A g1y & HeH

3. Coniferous forest / W?—ﬂﬁa:f

4, Acacia and cactus / Q?b—lﬁltﬂ 3R Haey

Correct Answer :-

» Acacia and cactus / QH?T&RT[ GﬁT m

83) Which one of the following reflects more sunlight? / fFrafafEd G an )| ﬁﬂf D1 A= B 3D
RTafda Far 32

1. Paddy crop land / Y4 B I 11[&{

2. Land covered with fresh snow / dToll W ¥ 3TesTied “;[&[
3. Sand desert /WW

4. Prairie land / OGS Hﬁ[



Correct Answer :-

. Land covered with fresh snow / TSl 90 ¥ 3T=31iGd H&f

84) Which layer of the atmosphere is in contact with the surface of the earth’s oceans? /
THSH Pt B A IRd Jdt & TgRINRI &t Tdg & Jud | 82

1. Stratosphere / HHAIY Hed

2. Mesosphere / g Hed

3. Hydrosphere / STaTHS A

4, Troposphere / &y Hed

Correct Answer :-

« Troposphere / &y Hed

85) Mediterranean Sea is a border of which of the following countries? / YHY AR fFafafeaeidd
foraet w32

1. None of these / @ﬁﬁﬁgﬁ

2. Iraq / AP
3. Lebanon / A&

4. Jordan / Givlé:l

Correct Answer :-

o Lebanon / NERIGH

86) Benguela ocean currents are found along which coast? / égqm He”ANR Wmiﬁ' & 91y urd
STl 82

1. East Coast of South America / GI&0T 3MAR®T B qﬁfa‘c'

2. East Coast of Africa / 3WI] &b ﬁﬂ?

3. West Coast of South America / GI&0T 3T & Uiy de
4. West Coast of Africa / 3pIHT & UigHl de

Correct Answer :-

o West Coast of Africa/ 3{HIh] %ﬁtﬁ\%ﬂﬂ dc



Due to tension, a block of land on one side being pushed up or upthrown relative to the downthrown block
is referred as: /

T & SR, 1A Bob U TS & A0, Y FT TS TS TH 3R A FUR YSdAT SITdT 8 AT HW B1 3R
BHIAEIe, 98 »EUA GeRia gl

1. Thrust fault / &}q YT

2. Normal fault / FTHTRT YR

3. Reverse fault / shH Iy

4, Strike slip fault / EIRNE] ﬂ'thT Iy

Correct Answer :-

« Normal fault / IHERT YT

88) Inter-tropical doldrums is a zoneof ./ JR-IWrdfeadiy @ﬁm __ PIT® &= %I
1. Frontolysis /ﬁ'ﬁw

2. Convergence / SRR

3. Inter-tropical divergence zone / SR-IUH e foaa &=

4. Local wind / W'Fﬂ'anﬁ

Correct Answer :-

« Convergence / SR

89) The Horse Latitudes are regions located at about __ north and south of the equator. /
T ST YA AT & SR RSO AT R R@ 7§

1. 30-60 degree Latitude / 30-60 TSUT S1&1

2. 0-5 degree Latitude / 0-5 TSUT S1&fi=1

3. 30 degree Latitude / 30 IEDIREIE]

4. 60-90 degree Latitude / 60-90 TSUT &2

Correct Answer :-

« 30 degree Latitude / 30 TS} 31&i=r

90) Generally evaporation is high over which part of the Earth? /

AT TR R gt & fre YnT R arsftewor siftre giar 82
1. Equatorial maritime / “ﬂmﬁw



2. Equatorial continental / %WW

3. Polar maritime / §atd TS
4, Polar continental / W HgIgIu

Correct Answer :-

« Equatorial maritime / lﬁ%ﬁfﬂﬂ?ﬁﬂ

91) A very high temperature during summer in north western India leads to what type of climatic
condition in south? /

IR Ui yRa # it & SR g S aTuHT 817 & FRUI Sfer § fry ueR & Sreary fRufa
IUA HIAT 8?

1. Depression over arabian sea / 3Rd WX U HdTH
2. Failure monsoon / II’FIHH%W

3. Successful monsoon / HIAYT I Il

4. Cyclones / d¢hdld

Correct Answer :-

+ Successful monsoon / HIYT I Il

92) Lightning and thunder are the resultant effect, when: / T‘l'%?‘l' 3N 7o afomdt guTa %:, uld:

1. Two massive clouds hit powerfully each other, first lightning is produced and later sound is produced. /

ﬁmw@ﬁm@mﬁﬁﬁmﬁ%ﬁaﬂaﬁ@mm%ﬁmﬁwﬁm
|

2. Two massive clouds come into contact with the powerful wind collision, this results into first sound and then
lightning. /

a‘ra%’%'cgmmwﬁ e TUE & GUS | 311d §, 3T URUITHGSY Ugd @i iR fhr srereii faggd
P |

3. None of the above / SWRIGdH I Ob\l‘is “—ﬁ=|‘5°f

4. A high density cloud contains positively and negatively charged electric ions and when this interacts, light and
sound are simultaneously produced. /

TP I Ucd J1Gd B YHTAD 3R BUTES AT [aggd 3 8d & 3R 9Id I8 UIRER THTd S1ad 6, dl
TR 3R a1 U W1y Iaed et 8|

Correct Answer :-

« A high density cloud contains positively and negatively charged electric ions and when this interacts, light and
sound are simultaneously produced. /



U 3 Ycd dlqd H YATHD R FBUMHSD STARIA [dgdd 3T 8ld & 3R 9 Ig IR YHTd STald o, dl
TSI 3R eaf+ T 1Y Ianfed gl g |

93) Doon Valley is able to grow rice because: / g1 ﬂ'lﬁ, I19d I H J&H % Fifb:

1. Other crops cannot be grown. /HET 3 B! bl IR '_'lT\ﬁGﬂWT%I
2. People in the valley are rice eaters. / Y1 H AR 9rad @ aTdl %I
3. There is a huge export demand of rice. /HET CICRE] Wﬁ'ﬂfﬁmgl
4, It has warm summer and snow melt waters for irrigation. /

agf it mf g & Riwng & forg b o1 Rwen gem arh Biar 21
Correct Answer :-

« It has warm summer and snow melt waters for irrigation. /
gt gt 7T gt  Rimrs & forg a0 1 foraen gen uri ek g1
94) CANCELLED
In the geological time scale, the Mesozoic Era DOES NOT contains which of the following periods? /
e w9g M R, wersidt g § A ol § @ o9 T8 @2
1. Triassic / @W
2. Jurassic /W

3. Cretaceous / dIhHY

4. Carboniferous / Wlé:ﬁ

Correct Answer :-

« Carboniferous / WITS&‘F[



Match the following List-I with List-II and select the correct answer from the given codes. /

- 1| & T2l - | F fereaferiad o1 e 3 3R A1 QT a1 dhe & el Scok &l =ha
|

P. Bushman / §2#e 1. India / R

Q. Pvemy / GTI7HT 2. Alaska, Greenland / 3TeTTEanT, AieTeis
R. Eskimo / UfEmat 3. Zaire / SX

S. Gond /715 4 Namibia / ATATEAT

1. P-3, Q-4,R-2, S-1
2.P-3,Q-4,R-1,S-2
3.P-3,Q-4,R-1,S-2
4.P-4,Q-3,R-2,S-1
Correct Answer :-

. P-4,Q-3,R-2, S-1

96
) Match the following List-I with List-II and select the correct answer from the given code. /

- 1| & A G- | 3 ferraAferf@d o fFerer 1 3R ofI=r AT aru dhe & 6l Sccok &l ST |

P. Equal Time / T# 98T 1. Isonephs / GHAG L@

Q. Equal sunshine / THTel A TehTeT | 2. Isohyets / THEYT {@r

R. Equal cloudiness / AT @G | 3. Isochrones / HIATR

S. Equal precipitation / HIT 90T | 4. Isohels / HH HZ Uahrer 3@r

1.P-3,Q-1, R-4, S-2
2.P-3,Q-4,R-1,S-2

3.P-3,Q-2, R4, S-1



4.P-2,Q-1,R-4,S-3

Correct Answer :-

« P-3,Q-4,R-1,S-2

97) Match the following List-I with List-II and select the correct answer from the given code./

- || & AT - | I ferrerforiad o fAeler 3 3R oA fET a0 dhe & Tl 3cok T a9 1 |

P. Teak / Tl 1. Kanataka / &hailcedh

Q. Sandal / 9caT 2. Tropical lands / 35UTehfcaei &1f&
B. Deodar / 2aER 3. Monsoon forests }’H’Iﬂi‘lﬁﬂﬁ'

S. Mahogany / HEITAT 4. Jammu and Kashmir / 51+ 3R H2AR

1.P-3,Q-1,R-4, S-2
2.P-2,Q-3, R-4, S-1
3.P-2, Q-1, R-3, S-4
4.P-4,Q-2,R-1, S-3

Correct Answer :-

« P-3,Q-1,R-4,S-2

98)

Match the following from List-I with List-II and select answer from the codes given below. /

G- 1| & arer G- | & foreaferf@d o1 e &l 3R w1 fou ae dhe & |61 3cak &7 s ga i |

P. Ischaline / §HEGUTYET | 1. Rainfall / 6T

Q. Isotherm /EHAGLET | 2. Salinity / FGUIAT

R. Isohyets / HH 9T LEr 3. Temperature / dT9HTA
S. Isobar / THGE (@I 4. Pressure / €19




1. P-3, Q-2, R-4, S-1
2.P-1,Q-2,R-3,S-4
3. P-2,Q-3,R-1, S-4
4. P-4, Q-3, R-2, S-1
Correct Answer :-

. P-2,Q-3,R-1,S-4

99) “Human geography is the study of changing relationship between the unresting man and the unstable
earth” was defined by: /

“UE YN, AP SATGH R SRR 2t & dta ey ulkad=T &7 a1 g~ RT iy faear
T

1. ). Brunches / o 59

2. E.C. Semple / 3.9}, 97

3. H.J. Mackinder / T9 & Afdhex
4. PV. Blache / Ul.dl. actal

Correct Answer :-

« E.C.Semple /g?ﬁ Jq

100) Sedimentary rocks are finally and ultimately derived from the ./
AT} TgTH 3fed: ¥ UTw &t STt g

1. action of earth movements / q%aﬁ CARIRICIR)

2. marine deposit / ﬂﬂff &g

3. weathering of metamorphic rocks / FUidd ﬂE‘Fﬁ & 3Ue

4. weathering of igneous rocks / Mg El?ﬂ:h & U

Correct Answer :-

« weathering of igneous rocks / Mg g i o Y&



